# HYERS-ULAM-RASSIAS STABILITY OF QUADRATIC FUNCTIONAL EQUATIONS IN BANACH MODULES OVER A C\*-ALGEBRA\*\*\*\*

### C. PARK\* J. PARK\*\* J. SHIN\*\*\*

#### Abstract

The authors prove the Hyers-Ulam-Rassias stability of the quadratic mapping in Banach modules over a unital  $C^*$ -algebra, and prove the Hyers-Ulam-Rassias stability of the quadratic mapping in Banach modules over a unital Banach algebra.

Keywords Stability, *B*-quadratic, Functional equation, Banach module over Banach algebra

2000 MR Subject Classification 46L05, 47J25, 39B72 Chinese Library Classification O177.2 Document Code A Article ID 0252-9599(2003)02-0001-06

# §1. Introduction

In 1940, S.M. Ulam<sup>[14]</sup> raised the following question: Under what conditions does there exist an additive mapping near an approximately additive mapping?

Let  $E_1$  and  $E_2$  be Banach spaces. Consider  $f: E_1 \to E_2$  to be a mapping such that f(tx) is continuous in  $t \in \mathbb{R}$  for each fixed  $x \in E_1$ . Assume that there exist constants  $\epsilon \geq 0$  and  $p \in [0, 1)$  such that

$$||f(x+y) - f(x) - f(y)|| \le \epsilon(||x||^p + ||y||^p)$$

for all  $x, y \in E_1$ . Th.M. Rassias<sup>[11]</sup> showed that there exists a unique  $\mathbb{R}$ -linear mapping  $T: E_1 \to E_2$  such that

$$||f(x) - T(x)|| \le \frac{2\epsilon}{2 - 2^p} ||x||^p$$

for all  $x \in E_1$ .

A mapping  $f: E_1 \to E_2$  is called quadratic if f satisfies the quadratic functional equation f(x+y) + f(x-y) = 2f(x) + 2f(y)

for all  $x, y \in E_1$ . F. Skof<sup>[13]</sup> was the first author to treat the Hyers-Ulam stability of a quadratic functional equation. S. Czerwik<sup>[6]</sup> generalized the Skof's result.

Manuscript received September 28, 2001.

<sup>\*</sup>Department of Mathematics, Chungnam National University, DaeJeon 305-764, South Korea. E-mail:cgpark@math.cnu.ac.kr

<sup>\*\*</sup>Department of Mathematics, Chungnam National University, DaeJeon 305-764, South Korea.

<sup>\* \* \*</sup>Department of Mathematics, Chungnam National University, DaeJeon 305-764, South Korea. E-mail:jkshin@math.cnu.ac.kr

<sup>\*\*\*</sup>Project supported by the grant No. KRF-2000-015-DP0038.

Let  $f: E_1 \to E_2$  be a mapping with f(0) = 0 satisfying the inequality

$$|f(x+y) + f(x-y) - 2f(x) - 2f(y)|| \le \varphi(x,y)$$

for all  $x, y \in E_1$ . Assume that one of the series

$$\sum_{n=1}^{\infty} 2^{-2n} \varphi(2^{n-1}x, 2^{n-1}x) \quad \text{and} \quad \sum_{n=1}^{\infty} 2^{2n-2} \varphi(2^{-n}x, 2^{-n}x)$$

converges for every  $x \in E_1$  and denote by  $\tilde{\varphi}(x)$  its sum. If, for every  $x, y \in E_1$ , as  $n \to \infty$ , (i)  $2^{-2n}\varphi(2^{n-1}x, 2^{n-1}y) \to 0$  or (ii)  $2^{2n-2}\varphi(2^{-n}x, 2^{-n}y) \to 0$ , respectively, then there exists a unique quadratic mapping  $Q: E_1 \to E_2$  such that

$$\|f(x) - Q(x)\| \le \widetilde{\varphi}(x)$$

for all  $x \in E_1$  (see [4] for details).

Throughout this paper, let *B* be a unital Banach algebra with norm  $|\cdot|$ ,  $B_1 = \{a \in B \mid |a| = 1\}$ ,  $B_{in}$  the set of invertible elements in B,  $\mathbb{R}^+$  the set of nonnegative real numbers, and let  $_BM_1$  and  $_BM_2$  be left Banach *B*-modules with norms  $||\cdot||$  and  $||\cdot||$ , respectively. Assume that  $F(2^nx) = 4^nF(x)$  for all  $x \in _BM_1$  if  $\varphi$  satisfies (i), and that  $F\left(\frac{x}{2^n}\right) = \frac{1}{4^{n-1}}F(x)$  for all  $x \in _BM_1$  if  $\varphi$  satisfies (i).

In this paper, we are going to prove the Hyers-Ulam-Rassias stability of the quadratic mapping in Banach modules over a unital Banach algebra.

## §2. Stability of the Quadratic Mapping in Banach Modules over a $C^*$ -Algebra

In this section, let B be a unital  $C^*$ -algebra of stable rank 1, which implies that  $B_{in}$  is dense in B (see [3, 10]). Let  $F : {}_BM_1 \to {}_BM_2$  be a mapping such that (iii) F(ax) is continuous in  $a \in B$  for each fixed  $x \in {}_BM_1$ .

A quadratic mapping  $Q : {}_{B}M_{1} \to {}_{B}M_{2}$  is called *B*-quadratic if  $Q(ax) = a^{2}Q(x)$  for all  $a \in B$  and all  $x \in {}_{B}M_{1}$ .

**Theorem 2.1.** Let  $F : {}_{B}M_{1} \to {}_{B}M_{2}$  be a mapping with F(0) = 0 for which there exists a function  $\varphi : {}_{B}M_{1} \times {}_{B}M_{1} \to [0, \infty)$  such that

$$\widetilde{\varphi}(x) < \infty,$$
  
$$\|F(ax + ay) + F(ax - ay) - 2a^2 F(x) - 2a^2 F(y)\| \le \varphi(x, y)$$

for all  $a \in B_1 \cap B_{in}$  and all  $x, y \in {}_BM_1$ , where  $\tilde{\varphi}(x)$  is as defined in the introduction. Then the mapping  $F : {}_BM_1 \to {}_BM_2$  is a *B*-quadratic mapping.

**Proof.** Put  $a = 1 \in B_1 \cap B_{in}$ . By [4, Theorem 2], there exists a unique quadratic mapping  $Q: {}_BM_1 \to {}_BM_2$  such that

(iv)  $||F(x) - Q(x)|| \le \widetilde{\varphi}(x)$ 

for all  $x \in {}_{B}M_{1}$ . The mapping  $Q : {}_{B}M_{1} \to {}_{B}M_{2}$  was given by  $Q(x) = \lim_{n \to \infty} \frac{F(2^{n}x)}{4^{n}}$  for all  $x \in {}_{B}M_{1}$  if  $\varphi$  satisfies (i), and  $Q(x) = \lim_{n \to \infty} 4^{n-1}F(\frac{x}{2^{n}})$  for all  $x \in {}_{B}M_{1}$  if  $\varphi$  satisfies (ii). The mapping  $Q : {}_{B}M_{1} \to {}_{B}M_{2}$  is similar to the additive mapping T given in the proof of [11, Theorem]. Under the assumption that F(tx) is continuous in  $t \in \mathbb{R}$  for each fixed  $x \in {}_{B}M_{1}$ , by the same reasoning as the proof of [11, Theorem], the quadratic mapping  $Q : {}_{B}M_{1} \to {}_{B}M_{2}$  is  $\mathbb{R}$ -quadratic.

Let us prove the theorem for the case that  $\varphi$  satisfies (i). By the assumption, for each  $a \in B_1 \cap B_{in}$ ,

$$||F(2^{n}ax) - 4a^{2}F(2^{n-1}x)|| \le \varphi(2^{n-1}x, 2^{n-1}x)$$

for all  $x \in {}_BM_1$ . Using the fact that for each  $a \in B$  and each  $z \in {}_BM_2$ ,  $||az|| \leq K|a| \cdot ||z||$  for some K > 0, one can show that

$$\|a^2 F(2^n x) - 4a^2 F(2^{n-1} x)\| \le K |a|^2 \cdot \|F(2^n x) - 4F(2^{n-1} x)\| \le K\varphi(2^{n-1} x, 2^{n-1} x)$$
  
for all  $a \in B_1 \cap B_{in}$  and all  $x \in BM_1$ . So

$$\begin{aligned} \|F(2^{n}ax) - a^{2}F(2^{n}x)\| &\leq \|F(2^{n}ax) - 4a^{2}F(2^{n-1}x)\| \\ &+ \|4a^{2}F(2^{n-1}x) - a^{2}F(2^{n}x)\| \\ &\leq \varphi(2^{n-1}x, 2^{n-1}x) + K\varphi(2^{n-1}x, 2^{n-1}x) \end{aligned}$$

for all  $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ . Thus  $2^{-2n} ||F(2^n ax) - a^2 F(2^n x)|| \to 0$  as  $n \to \infty$  for all  $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ . Hence

$$Q(ax) = \lim_{n \to \infty} \frac{F(2^n ax)}{2^{2n}} = \lim_{n \to \infty} \frac{a^2 F(2^n x)}{2^{2n}} = a^2 Q(x)$$
(2.1)

for all  $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ .

Let  $b \in B_1 \setminus B_{in}$ . Since  $B_{in}$  is dense in B, there exists a sequence  $\{b_m\}$  in  $B_{in}$  such that  $b_m \to b$  as  $m \to \infty$ . Put  $a_m = \frac{1}{|b_m|} b_m$ , then  $a_m \to \frac{1}{|b|} b = b$  as  $m \to \infty$  and  $a_m \in B_1 \cap B_{in}$ . Thus there exists a sequence  $\{a_m\}$  in  $B_1 \cap B_{in}$  such that  $a_m \to b$  as  $m \to \infty$ , and so

$$\lim_{m \to \infty} Q(a_m x) = \lim_{m \to \infty} \lim_{n \to \infty} 4^{-n} F(2^n a_m x)$$
$$= \lim_{m \to \infty} F(a_m x) = F(\lim_{m \to \infty} a_m x)) \quad \text{by (iii)}$$
$$= \lim_{n \to \infty} 4^{-n} F(2^n b x) = Q(b x)$$
(2.2)

for all  $x \in {}_BM_1$ . By (2.1),

$$\|Q(a_m x) - b^2 Q(x)\| = \|a_m^2 Q(x) - b^2 Q(x)\| \to \|b^2 Q(x) - b^2 Q(x)\| = 0$$
(2.3)
  
By (2.2)

as  $m \to \infty$ . By (2.2),

$$\|4^{-n}F(2^n a_m x) - Q(a_m x)\| \to \|4^{-n}F(2^n bx) - Q(bx)\|$$
(2.4)

as  $m \to \infty$ . By (2.3) and (2.4),

$$\begin{aligned} \|Q(bx) - b^2 Q(x)\| &\leq \|Q(bx) - 4^{-n} F(2^n bx)\| + \|4^{-n} F(2^n bx) - 4^{-n} F(2^n a_m x)\| \\ &+ \|4^{-n} F(2^n a_m x) - Q(a_m x)\| + \|Q(a_m x) - b^2 Q(x)\| \\ &\to \|Q(bx) - 4^{-n} F(2^n bx)\| + \|4^{-n} F(2^n bx) - Q(bx)\| \text{ as } m \to \infty \\ &\to 0 \text{ as } n \to \infty \end{aligned}$$

for all  $x \in {}_BM_1$ . So

$$Q(bx) = b^2 Q(x) \tag{2.5}$$

for all  $b \in B_1 \setminus B_{in}$  and all  $x \in {}_BM_1$ . By (2.1) and (2.5),  $Q(ax) = a^2Q(x)$  for all  $a \in B_1$  and all  $x \in {}_BM_1$ .

Similarly, for the case that  $\varphi$  satisfies (ii), one can obtain that

$$Q(ax) = \lim_{n \to \infty} \frac{F(2^{-n}ax)}{4^{1-n}} = \lim_{n \to \infty} \frac{a^2 F(2^{-n}x)}{4^{1-n}} = a^2 Q(x)$$

for all  $a \in B_1$  and all  $x \in {}_BM_1$ .

Since Q is  $\mathbb{R}$ -quadratic and  $Q(ax) = a^2 Q(x)$  for each  $a \in B_1$ ,

$$Q(ax) = Q\left(|a| \cdot \frac{a}{|a|}x\right) = |a|^2 \cdot Q\left(\frac{a}{|a|}x\right) = |a|^2 \cdot \frac{a^2}{|a|^2} \cdot Q(x) = a^2 Q(x)$$

for all  $a \in B(a \neq 0)$  and all  $x \in {}_{B}M_{1}$ . And  $Q(0x) = 0^{2}Q(x)$  for all  $x \in {}_{B}M_{1}$ . So the unique quadratic mapping  $Q : {}_{B}M_{1} \to {}_{B}M_{2}$  is a *B*-quadratic mapping satisfying (iv).

But  $Q(x) = \lim_{n \to \infty} \frac{F(2^n x)}{4^n} = F(x)$  for all  $x \in {}_BM_1$  if  $\varphi$  satisfies (i), and

$$Q(x) = \lim_{n \to \infty} 4^{n-1} F\left(\frac{x}{2^n}\right) = F(x)$$

for all  $x \in {}_BM_1$  if  $\varphi$  satisfies (ii). So the *B*-quadratic mapping  $Q : {}_BM_1 \to {}_BM_2$  is the mapping *F*, as desired.

Now we prove the Hyers-Ulam-Rassias stability of another quadratic mapping in Banach modules over a unital  $C^*$ -algebra.

**Theorem 2.2.** Let  $F : {}_{B}M_{1} \to {}_{B}M_{2}$  be a mapping with F(0) = 0 for which there exists a function  $\varphi : {}_{B}M_{1} \times {}_{B}M_{1} \to [0, \infty)$  such that

$$\widetilde{\varphi}(x) < \infty,$$
$$\|a^2 F(x+y) + a^2 F(x-y) - 2F(ax) - 2F(ay)\| \le \varphi(x,y)$$

for all  $a \in B_1 \cap B_{in}$  and all  $x, y \in {}_BM_1$ , where  $\tilde{\varphi}(x)$  is as defined in the introduction. Then the mapping  $F : {}_BM_1 \to {}_BM_2$  is a B-quadratic mapping.

**Proof.** By the same reasoning as the proof of Theorem 2.1, there exists a unique  $\mathbb{R}$ -quadratic mapping  $Q: {}_{B}M_{1} \rightarrow {}_{B}M_{2}$  satisfying (iv).

Let us prove the theorem for the case that  $\varphi$  satisfies (i). By the assumption, for each  $a \in B_1 \cap B_{in}$ ,

$$||a^{2}F(2^{n}x) - 4F(2^{n-1}ax)|| \le \varphi(2^{n-1}x, 2^{n-1}x)$$

for all  $x \in {}_BM_1$ . So

$$\begin{split} \|a^2 F(2^n x) - F(2^n a x)\| &\leq \|a^2 F(2^n x) - 4F(2^{n-1} a x)\| + \|4F(2^{n-1} a x) - F(2^n a x)\| \\ &\leq \varphi(2^{n-1} x, 2^{n-1} x) + \varphi(2^{n-1} a x, 2^{n-1} a x) \end{split}$$

for all  $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ . Thus  $2^{-2n} ||a^2 F(2^n x) - F(2^n ax)|| \to 0$  as  $n \to \infty$  for all  $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ . Hence

$$a^{2}Q(x) = \lim_{n \to \infty} \frac{a^{2}F(2^{n}x)}{2^{2n}} = \lim_{n \to \infty} \frac{F(2^{n}ax)}{2^{2n}} = Q(ax)$$

for all  $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ .

Similarly, for the case that  $\varphi$  satisfies (ii), one can obtain that

$$a^{2}Q(x) = \lim_{n \to \infty} \frac{a^{2}F(2^{-n}x)}{2^{2-2n}} = \lim_{n \to \infty} \frac{F(2^{-n}ax)}{2^{2-2n}} = Q(ax)$$

for all  $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ .

The rest of the proof is the same as the proof of Theorem 2.1. So the unique quadratic mapping  $Q: {}_{B}M_{1} \rightarrow {}_{B}M_{2}$  is a *B*-quadratic mapping, which is the mapping *F*.

**Theorem 2.3.** Let  $F : {}_{B}M_{1} \to {}_{B}M_{2}$  be a mapping with F(0) = 0 for which there exists a function  $\varphi : {}_{B}M_{1} \times {}_{B}M_{1} \to [0, \infty)$  such that

$$\widetilde{\varphi}(x) < \infty,$$
  
$$\|F(x+y) + F(x-y) - 2F(x) - 2F(y)\| \le \varphi(x,y),$$
  
$$\|F(ax) - a^2 F(x)\| \le \varphi(x,x)$$

for all  $a \in B_1 \cap B_{in}$  and all  $x, y \in {}_BM_1$ , where  $\widetilde{\varphi}(x)$  is as defined in the introduction. Then the mapping  $F : {}_BM_1 \to {}_BM_2$  is a B-quadratic mapping.

**Proof.** By the same reasoning as the proof of Theorem 2.1, there exists a unique  $\mathbb{R}$ -quadratic mapping  $Q: {}_{B}M_{1} \rightarrow {}_{B}M_{2}$  satisfying (iv).

Assume that  $\varphi$  satisfies (i). Since  $2^{-2n} \|F(2^n ax) - a^2 F(2^n x)\| \to 0$  as  $n \to \infty$  for all

 $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ ,

$$Q(ax) = \lim_{n \to \infty} \frac{F(2^n ax)}{4^n} = \lim_{n \to \infty} a^2 \frac{F(2^n x)}{4^n} = a^2 Q(x)$$

for all  $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ .

Similarly, for the case that  $\varphi$  satisfies (ii), one can obtain that

$$Q(ax) = \lim_{n \to \infty} \frac{F(2^{-n}ax)}{2^{2-2n}} = \lim_{n \to \infty} \frac{a^2 F(2^{-n}x)}{2^{2-2n}} = a^2 Q(x)$$

for all  $a \in B_1 \cap B_{in}$  and all  $x \in {}_BM_1$ .

The rest of the proof is the same as the proof of Theorem 2.1. So the unique  $\mathbb{R}$ -quadratic mapping  $Q: {}_{B}M_{1} \rightarrow {}_{B}M_{2}$  is a *B*-quadratic mapping, which is the mapping *F*.

### §3. Stability of the Quadratic Functional Equation in Banach Modules a over Banach Algebra

In this section, we prove the Hyers-Ulam-Rassias stability of a quadratic mapping in Banach modules over a unital Banach algebra.

**Theorem 3.1.** Let  $F : {}_BM_1 \to {}_BM_2$  be a mapping with F(0) = 0 for which there exists a function  $\varphi : {}_BM_1 \times {}_BM_1 \to [0, \infty)$  such that

$$\widetilde{\varphi}(x) < \infty,$$
  
$$\|F(ax + ay) + F(ax - ay) - 2a^2 F(x) - 2a^2 F(y)\| \le \varphi(x, y)$$

for all  $a \in B_1$  and all  $x, y \in {}_BM_1$ , where  $\widetilde{\varphi}(x)$  is as defined in the introduction. If F(tx) is continuous in  $t \in \mathbb{R}$  for each fixed  $x \in {}_BM_1$ , then the mapping  $F : {}_BM_1 \to {}_BM_2$  is a *B*-quadratic mapping.

**Proof.** By the same reasoning as the proof of Theorem 2.1, there exists a unique  $\mathbb{R}$ -quadratic mapping  $Q: {}_{B}M_{1} \rightarrow {}_{B}M_{2}$  satisfying (iv).

Let us prove the theorem for the case that  $\varphi$  satisfies (i). By the same method as the proof of Theorem 2.1, one can obtain that

$$Q(ax) = \lim_{n \to \infty} \frac{F(2^n ax)}{2^{2n}} = \lim_{n \to \infty} \frac{a^2 F(2^n x)}{2^{2n}} = a^2 Q(x)$$

for all  $a \in B_1$  and all  $x \in {}_BM_1$ .

Similarly, for the case that  $\varphi$  satisfies (ii), one can obtain that

$$Q(ax) = \lim_{n \to \infty} \frac{F(2^{-n}ax)}{2^{2-2n}} = \lim_{n \to \infty} \frac{a^2 F(2^{-n}x)}{2^{2-2n}} = a^2 Q(x)$$

for all  $a \in B_1$  and all  $x \in {}_BM_1$ .

The rest of the proof is the same as the proof of Theorem 2.1. So the unique  $\mathbb{R}$ -quadratic mapping  $Q: {}_{B}M_{1} \rightarrow {}_{B}M_{2}$  is a *B*-quadratic mapping, which is the mapping *F*.  $\Box$ 

Similarly, one can obtain similar results to Theorem 2.2 and Theorem 2.3.

**Theorem 3.2.** Let  $F : {}_{B}M_{1} \to {}_{B}M_{2}$  be a mapping with F(0) = 0 for which there exists a function  $\varphi : {}_{B}M_{1} \times {}_{B}M_{1} \to [0, \infty)$  such that

$$\varphi(x) < \infty,$$
  
$$\|F(ax + ay) + F(ax - ay) - 2a^2 F(x) - 2a^2 F(y)\| \le \varphi(x, y)$$

for all  $a \in B_1 \cup \mathbb{R}^+$  and all  $x, y \in {}_BM_1$ , where  $\widetilde{\varphi}(x)$  is as defined in the introduction. Then the mapping  $F : {}_BM_1 \to {}_BM_2$  is a B-quadratic mapping.

**Proof.** Put  $a = 1 \in B_1 \cup \mathbb{R}^+$ . By [4, Theorem 2], there exists a unique quadratic mapping  $Q: {}_BM_1 \to {}_BM_2$  satisfying (iv).

Let us prove the theorem for the case that  $\varphi$  satisfies (i). By the same method as the proof of Theorem 2.1, one can obtain that

$$Q(ax) = \lim_{n \to \infty} \frac{F(2^n ax)}{2^{2n}} = \lim_{n \to \infty} \frac{a^2 F(2^n x)}{2^{2n}} = a^2 Q(x)$$

for all  $a \in B_1 \cup \mathbb{R}^+$  and all  $x \in {}_BM_1$ .

Similarly, for the case that  $\varphi$  satisfies (ii), one can obtain that

$$Q(ax) = \lim_{n \to \infty} \frac{F(2^{-n}ax)}{2^{2-2n}} = \lim_{n \to \infty} \frac{a^2 F(2^{-n}x)}{2^{2-2n}} = a^2 Q(x)$$

for all  $a \in B_1 \cup \mathbb{R}^+$  and all  $x \in {}_BM_1$ .

The rest of the proof is similar to the proof of Theorem 2.1. So the unique quadratic mapping  $Q: {}_{B}M_{1} \rightarrow {}_{B}M_{2}$  is a *B*-quadratic mapping, which is the mapping *F*.

Remark 3.1. If the second inequality in the statement of Theorem 2.1 is replaced by

$$||F(ax + y) + F(ax - y) - 2a^2F(x) - 2F(y)|| \le \varphi(x, y)$$

then

$$\begin{aligned} \|F(ax+x) + F(ax-x) - 2a^2F(x) - 2F(x)\| &\leq \varphi(x,x), \\ \|F(ax+x) + F(ax-x) - 2F(ax) - 2F(x)\| &\leq \varphi(ax,x). \end{aligned}$$

So

$$|2F(ax) - 2a^2F(x)|| \le \varphi(x, x) + \varphi(ax, x),$$

hence the result does also hold as a corollary of Theorem 2.3.

Similarly, one can prove the stability of the other quadratic mappings in Banach modules over a unital  $C^*$ -algebra or a unital Banach algebra, and obtain similar results to Theorem 2.2 and Theorem 2.3.

#### References

- Aczél, J. & Dhombres, J., Functional equations in several variables, Cambridge Univ. Press, Cambridge, 1989.
- [2] Bonsall, F. & Duncan, J., Complete normed algebras, Springer-Verlag, New York, Heidelberg and Berlin, 1973.
- [3] Boo, D. & Park, C., The fundamental group of the automorphism group of a noncommutative torus, *Chin. Ann. Math.*, 21B:4(2000), 441–452.
- [4] Borelli, C. & Forti, G., On a general Hyers-Ulam stability result, Internat. J. Math. Math. Sci., 18 (1995), 229–236.
- [5] Cholewa, P. M., Remarks on the stability of functional equations, Aequationes Math., 27(1984), 76-86.
- [6] Czerwik, S., On the stability of the quadratic mapping in the normed space, Abh. Math. Sem. Hamburg, 62(1992), 59–64.
- [7] Hyers, D. H., On the stability of the linear functional equation, Pro. Nat'l. Acad. Sci. U.S.A., 27(1941), 222–224.
- [8] Hyers, D. H., Isac, G. & Rassias, Th. M., Stability of functional equations in several variables, Birkhäuser, Berlin, Basel and Boston, 1998.
- [9] Jun, K. & Lee, Y., On the Hyers-Ulam-Rassias stability of a Pexiderized quadratic inequality, Math. Ineq. Appl., 4(2001), 93–118.
- [10] Park, C., Generalized simple noncommutative tori, Chin. Ann. Math., 23B:3(2002) (to appear).
- [11] Rassias, Th. M., On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc., 72 (1978), 297–300.
- [12] Schröder, H., K-Theory for Real C\*-Algebras and Applications, Pitman Research Notes in Math. Ser., vol. 290, Longman Sci. Tech., Essex, 1993.
- [13] Skof, F., Proprietà locali e approssimazione di operatori, Rend. Sem. Mat. Fis. Milano, 53 (1983), 113–129.
- [14] Ulam, S. M., Problems in modern Mathematics, Wiley, New York, 1960.